Tabulation of Bids Village of Hoffman Estates 2025 Street Revitalization Project #2 Section Number: 25-00118-00-PV

County	Cook										
17 March 2025, 10:00 A.M. Attendees: Patty Richter, Andy LoBosco, Derek Greiner (All VOHE)				2025 STREET REVITALIZATION PROJECT #2 - ENGINEERS ESTIMATE		A Lamp Concrete Contractors, Inc. 1900 Wright Boulevard Schaumburg, IL 60193		Schroeder Asphalt Services, Inc P.O. Box 831 Huntley, IL 60142		Builders Paving, LLC 4401 Roosevelt Rd Hillside, Il 60162	
ITEM#	ITEMS	UNIT	QUANTITIES	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
HE201000	TREE ROOT PRUNING	EACH	61	\$90.00	\$5,490.00	\$50.00	\$3,050.00	\$60.00	\$3,660.00	\$50.00	\$3,050.00
20101000	TEMPORARY FENCE	FOOT	200	\$10.00	\$2,000.00	\$1.00	\$200.00	\$5.35	\$1,070.00	\$5.00	\$1,000.00
20200100	EARTH EXCAVATION	CU YD	3,089	\$37.00	\$114,293.00	\$37.00	\$114,293.00	\$41.00	\$126,649.00	\$50.00	\$154,450.00
20201200	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIALS	CU YD	1,179	\$25.00	\$29,475.00	\$20.00	\$23,580.00	\$10.00	\$11,790.00	\$40.00	\$47,160.00
20700220	POROUS GRANULAR EMBANKMENT	CU YD	4	\$250.00	\$1,000.00	\$200.00	\$800.00	\$100.00	\$400.00	\$250.00	\$1,000.00
20800150	TRENCH BACKFILL	CU YD	4,986	\$45.00	\$224,370.00	\$1.00	\$4,986.00	\$42.80	\$213,400.80	\$40.00	\$199,440.00
21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	SQ YD	8,785	\$2.00	\$17,570.00	\$1.75	\$15,373.75	\$1.50	\$13,177.50	\$2.00	\$17,570.00
21301072	EXPLORATORY TRENCH 72" DEPTH	FOOT	70	\$60.00	\$4,200.00	\$1.00	\$70.00	\$53.50	\$3,745.00	\$50.00	\$3,500.00
21101600	TOPSOIL FURNISH AND PLACE, VARIABLE DEPTH	SQ YD	18,573	\$6.00	\$111,438.00	\$2.00	\$37,146.00	\$5.40	\$100,294.20	\$4.00	\$74,292.00
HE250000	EROSION CONTROL BLANKET WITH SEED, SPECIAL	SQ YD	4,673	\$3.50	\$16,355.50	\$3.50	\$16,355.50	\$8.50	\$39,720.50	\$8.00	\$37,384.00
HE252000	SODDING, SPECIAL	SQ YD	13,930	\$10.00	\$139,300.00	\$8.00	\$111,440.00	\$9.10	\$126,763.00	\$8.00	\$111,440.00
28000250	TEMPORARY EROSION CONTROL SEEDING	POUND	222	\$3.00	\$666.00	\$1.00	\$222.00	\$5.35	\$1,187.70	\$5.00	\$1,110.00
28000400	PERIMETER EROSION BARRIER	FOOT	132	\$4.00	\$528.00	\$1.00	\$132.00	\$4.30	\$567.60	\$4.00	\$528.00
28000510	INLET FILTERS	EACH	99	\$120.00	\$11,880.00	\$15.00	\$1,485.00	\$185.00	\$18,315.00	\$200.00	\$19,800.00
28001100	TEMPORARY EROSION CONTROL BLANKET	SQ YD	10,740	\$2.00	\$21,480.00	\$0.01	\$107.40	\$1.08	\$11,599.20	\$1.00	\$10,740.00
28100103	STONE RIPRAP, CLASS A2	SQ YD	14	\$100.00	\$1,400.00	\$77.50	\$1,085.00	\$150.00	\$2,100.00	\$250.00	\$3,500.00
30300001	AGGREGATE SUBGRADE IMPROVEMENT	CU YD	1,179	\$25.00	\$29,475.00	\$20.00	\$23,580.00	\$20.00	\$23,580.00	\$40.00	\$47,160.00
30300112	AGGREGATE SUBGRADE IMPROVEMENT 12"	SQ YD	8,785	\$18.00	\$158,130.00	\$17.25	\$151,541.25	\$18.00	\$158,130.00	\$20.00	\$175,700.00
HE323444	DECORATIVE STEEL RAILING	FOOT	29	\$200.00	\$5,800.00	\$440.00	\$12,760.00	\$405.00	\$11,745.00	\$670.00	\$19,430.00
40201000	AGGREGATE FOR TEMPORARY ACCESS	TON	680	\$20.00	\$13,600.00	\$1.00	\$680.00	\$20.00	\$13,600.00	\$30.00	\$20,400.00
HE406000	BITUMINOUS MATERIALS - TRACKLESS TACK COAT	POUND	22,007	\$1.00	\$22,007.00	\$0.01	\$220.07	\$0.01	\$220.07	\$0.01	\$220.07
40602978	HOT-MIX ASPHALT BINDER COURSE, IL- 9.5, N50	TON	1,293	\$100.00	\$129,300.00	\$100.00	\$129,300.00	\$87.00	\$112,491.00	\$102.00	\$131,886.00
40604060	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N50	TON	2,678	\$90.00	\$241,020.00	\$95.00	\$254,410.00	\$87.00	\$232,986.00	\$92.00	\$246,376.00
	HOT-MIX ASPHALT PAVEMENT (FULL-DEPTH), 6"	SQ YD	7,774	\$31.50	\$244,881.00	\$32.50	\$252,655.00	\$39.75	\$309,016.50	\$33.00	\$256,542.00
HE407300	HOT-MIX ASPHALT DRIVEWAY PAVEMENT, 3"	SQ YD	250	\$45.00	\$11,250.00	\$40.00	\$10,000.00	\$32.00	\$8,000.00	\$50.00	\$12,500.00
	HOT-MIX ASPHALT DRIVEWAY PAVEMENT, 5"	SQ YD	87	\$60.00	\$5,220.00	\$64.00	\$5,568.00	\$55.00	\$4,785.00	\$80.00	\$6,960.00
HE423060	PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 6 INCH	SQ YD	2,120	\$75.00	\$159,000.00	\$81.25	\$172,250.00	\$75.00	\$159,000.00	\$70.00	\$148,400.00
HE423080	PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 8 INCH	SQ YD	180	\$80.00	\$14,400.00	\$115.00	\$20,700.00	\$107.00	\$19,260.00	\$100.00	\$18,000.00
HE424000	PORTLAND CEMENT CONCRETE SIDEWALK, 5 INCH	SQ FT	65,263	\$8.00	\$522,104.00	\$8.05	\$525,367.15	\$10.70	\$698,314.10	\$9.35	\$610,209.05
	DETECTABLE WARNINGS	SQ FT	1,042	\$27.00	\$28,134.00	\$27.00	\$28,134.00	\$22.00	\$22,924.00	\$20.00	\$20,840.00
44000100	PAVEMENT REMOVAL	SQ YD	7,774	\$6.50	\$50,531.00	\$7.60	\$59,082.40	\$6.50	\$50,531.00	\$12.00	\$93,288.00
	VARIABLE DEPTH GRINDING (0 INCH TO 3 INCH)	SQ YD	30,266	\$2.75	\$83,231.50	\$2.45	\$74,151.70	\$2.25	\$68,098.50	\$5.00	\$151,330.00
	DRIVEWAY PAVEMENT REMOVAL	SQ YD	2,672	\$11.00	\$29,392.00	\$12.50	\$33,400.00	\$12.85	\$34,335.20	\$15.00	\$40,080.00
44000500	COMBINATION CONCRETE CURB AND GUTTER REMOVAL	FOOT	9,656	\$5.00	\$48,280.00	\$5.65	\$54,556.40	\$6.45	\$62,281.20	\$5.00	\$48,280.00
	SIDEWALK REMOVAL	SQ FT	64,950	\$1.15	\$74,692.50	\$1.20	\$77,940.00	\$1.10	\$71,445.00	\$1.00	\$64,950.00
	CLASS D PATCH, SPECIAL, 6 INCH	SQ YD	1,118	\$65.00	\$72,670.00	\$45.00	\$50,310.00	\$57.00	\$63,726.00	\$50.00	\$55,900.00
	CLASS D PATCH, SPECIAL, 8 INCH	SQ YD	60	\$75.00	\$4,500.00	\$80.00	\$4,800.00	\$82.00	\$4,920.00	\$90.00	\$5,400.00
	CLASS D PATCH, SPECIAL, 9 INCH	SQ YD	625	\$85.00	\$53,125.00	\$58.00	\$36,250.00	\$85.50	\$53,437.50	\$90.00	\$56,250.00
HE442100	CLASS D PATCH, SPECIAL, 10 INCH	SQ YD	25	\$95.00	\$2,375.00	\$95.00	\$2,375.00	\$105.00	\$2,625.00	\$125.00	\$3,125.00

Tabulation of Bids Village of Hoffman Estates 2025 Street Revitalization Project #2 Section Number: 25-00118-00-PV

County	Cook										
17 March 2025, 10:00 A.M. Attendees: Patty Richter, Andy LoBosco, Derek Greiner (All VOHE)				2025 STREET REVITALIZATION PROJECT #2 - ENGINEERS ESTIMATE		A Lamp Concrete Contractors, Inc. 1900 Wright Boulevard Schaumburg, IL 60193		Schroeder Asphalt Services, Inc P.O. Box 831 Huntley, IL 60142		Builders Paving, LLC 4401 Roosevelt Rd Hillside, Il 60162	
ITEM#	ITEMS	UNIT	QUANTITIES	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
50100100	REMOVAL OF EXISTING STRUCTURES	EACH	1	\$5,000.00	\$5,000.00	\$1,400.00	\$1,400.00	\$1,000.00	\$1,000.00	\$600.00	\$600.00
50200100	STRUCTURE EXCAVATION	CU YD	32	\$80.00	\$2,560.00	\$103.00	\$3,296.00	\$66.00	\$2,112.00	\$75.00	\$2,400.00
54001001	BOX CULVERET END SECTIONS, CULVERT NO. 1	EACH	1	\$50,000.00	\$50,000.00	\$52,300.00	\$52,300.00	\$64,200.00	\$64,200.00	\$60,000.00	\$60,000.00
HE542485	CONCRETE COLLAR, SPECIAL	EACH	1	\$750.00	\$750.00	\$1,175.00	\$1,175.00	\$5,400.00	\$5,400.00	\$5,000.00	\$5,000.00
550A2320	STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 1, 12"	FOOT	595	\$75.00	\$44,625.00	\$122.00	\$72,590.00	\$117.70	\$70,031.50	\$110.00	\$65,450.00
550A2330	STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 1, 15"	FOOT	35	\$100.00	\$3,500.00	\$129.00	\$4,515.00	\$132.75	\$4,646.25	\$125.00	\$4,375.00
550A2340	STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 1, 18"	FOOT	8	\$110.00	\$880.00	\$527.00	\$4,216.00	\$160.50	\$1,284.00	\$150.00	\$1,200.00
550A2420	STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 1, 48"	FOOT	93	\$275.00	\$25,575.00	\$384.00	\$35,712.00	\$535.00	\$49,755.00	\$500.00	\$46,500.00
HE550112	STORM SEWER, TYPE 1, WATER MAIN QUALITY PIPE, 12"	FOOT	57	\$150.00	\$8,550.00	\$142.00	\$8,094.00	\$160.50	\$9,148.50	\$150.00	\$8,550.00
HE550130	STORM SEWER, TYPE 1, WATER MAIN QUALITY PIPE, 30"	FOOT	43	\$450.00	\$19,350.00	\$356.00	\$15,308.00	\$535.00	\$23,005.00	\$500.00	\$21,500.00
HE550550	POST CONSTRUCTION TELEVISING	FOOT	1,585	\$5.00	\$7,925.00	\$4.40	\$6,974.00	\$8.56	\$13,567.60	\$8.00	\$12,680.00
HE551000	DIRECT CONNECTION TO STORM SEWER, SPECIAL	EACH	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$3,225.00	\$3,225.00	\$3,000.00	\$3,000.00
55100200	STORM SEWER REMOVAL 6"	FOOT	55	\$10.00	\$550.00	\$1.00	\$55.00	\$10.70	\$588.50	\$10.00	\$550.00
55100400	STORM SEWER REMOVAL, 10"	FOOT	40	\$10.00	\$400.00	\$1.00	\$40.00	\$10.70	\$428.00	\$10.00	\$400.00
55100500	STORM SEWER REMOVAL, 12"	FOOT	441	\$10.00	\$4,410.00	\$1.00	\$441.00	\$16.15	\$7,122.15	\$15.00	\$6,615.00
55100700	STORM SEWER REMOVAL 15"	FOOT	86	\$10.00	\$860.00	\$1.00	\$86.00	\$21.40	\$1,840.40	\$20.00	\$1,720.00
55100800	STORM SEWER REMOVAL 18"	FOOT	8	\$10.00	\$80.00	\$1.00	\$8.00	\$40.00	\$320.00	\$35.00	\$280.00
55101400	STORM SEWER REMOVAL 30"	FOOT	46	\$25.00	\$1,150.00	\$1.00	\$46.00	\$81.00	\$3,726.00	\$75.00	\$3,450.00
55101900	STORM SEWER REMOVAL 48"	FOOT	101	\$30.00	\$3,030.00	\$1.00	\$101.00	\$160.50	\$16,210.50	\$150.00	\$15,150.00
HE561018	WATER MAIN REMOVAL 8"	FOOT	30	\$50.00	\$1,500.00	\$1.00	\$30.00	\$70.00	\$2,100.00	\$65.00	\$1,950.00
HE561060	WATER MAIN 6"	FOOT	433	\$150.00	\$64,950.00	\$164.00	\$71,012.00	\$123.00	\$53,259.00	\$115.00	\$49,795.00
HE561080	WATER MAIN 8"	FOOT	3,866	\$160.00	\$618,560.00	\$172.00	\$664,952.00	\$177.00	\$684,282.00	\$165.00	\$637,890.00
HE561100	WATER MAIN 10"	FOOT	6	\$200.00	\$1,200.00	\$396.00	\$2,376.00	\$325.00	\$1,950.00	\$300.00	\$1,800.00
HE561120	WATER MAIN 12"	FOOT	850	\$220.00	\$187,000.00	\$209.00	\$177,650.00	\$246.50	\$209,525.00	\$230.00	\$195,500.00
HE561101	DISCONNECT FROM EXISTING WATERMAIN	EACH	13	\$3,000.00	\$39,000.00	\$1,725.00	\$22,425.00	\$4,815.00	\$62,595.00	\$4,500.00	\$58,500.00
HE562015	COPPER WATER SERVICE (TYPE K) 1.5"	FOOT	2,159	\$160.00	\$345,440.00	\$156.00	\$336,804.00	\$116.75	\$252,063.25	\$109.00	\$235,331.00
HE562020	COPPER WATER SERVICE (TYPE K) 2.0"	FOOT	5	\$200.00	\$1,000.00	\$1,050.00	\$5,250.00	\$535.00	\$2,675.00	\$500.00	\$2,500.00
HE563004	SANITARY SEWER, PVC SDR 26, 4", SPECIAL	FOOT	786	\$100.00	\$78,600.00	\$60.00	\$47,160.00	\$87.60	\$68,853.60	\$80.00	\$62,880.00
HE563006	SANITARY SEWER, PVC SDR 26, 6", SPECIAL	FOOT	55	\$120.00	\$6,600.00	\$108.00	\$5,940.00	\$215.00	\$11,825.00	\$200.00	\$11,000.00
HE563008	SANITARY SEWER, PVC SDR 26, 8", SPECIAL	FOOT	491	\$170.00	\$83,470.00	\$230.00	\$112,930.00	\$270.00	\$132,570.00	\$250.00	\$122,750.00
HE563010	SANITARY SEWER, PVC SDR 26, 10", SPECIAL	FOOT	405	\$210.00	\$85,050.00	\$208.00	\$84,240.00	\$322.00	\$130,410.00	\$300.00	\$121,500.00
HE563012	SANITARY SEWER, PVC SDR 26, 12", SPECIAL	FOOT	30	\$250.00	\$7,500.00	\$314.00	\$9,420.00	\$589.00	\$17,670.00	\$550.00	\$16,500.00
HE563104	SANITARY SEWER REMOVAL, 4", SPECIAL	FOOT	788	\$10.00	\$7,880.00	\$1.00	\$788.00	\$16.15	\$12,726.20	\$15.00	\$11,820.00
HE563106	SANITARY SEWER REMOVAL, 6", SPECIAL	FOOT	105	\$10.00	\$1,050.00	\$1.00	\$105.00	\$21.75	\$2,283.75	\$20.00	\$2,100.00
HE563108	SANITARY SEWER REMOVAL, 8", SPECIAL	FOOT	469	\$15.00	\$7,035.00	\$1.00	\$469.00	\$37.50	\$17,587.50	\$35.00	\$16,415.00
HE563110	SANITARY SEWER REMOVAL, 10", SPECIAL	FOOT	405	\$20.00	\$8,100.00	\$1.00	\$405.00	\$47.75	\$19,338.75	\$45.00	\$18,225.00
HE563112	SANITARY SEWER REMOVAL, 12", SPECIAL	FOOT	30	\$25.00	\$750.00	\$1.00	\$30.00	\$83.00	\$2,490.00	\$75.00	\$2,250.00
HE563206	SANITARY SEWER SERVICE CONNECTION, 6", SPECIAL	EACH	13	\$2,500.00	\$32,500.00	\$3,675.00	\$47,775.00	\$5,400.00	\$70,200.00	\$5,000.00	\$65,000.00
HE564000	FIRE HYDRANT WITH AUXILLARY VALVE AND VALVE BOX	EACH	15	\$11,000.00	\$165,000.00	\$10,300.00	\$154,500.00	\$10,750.00	\$161,250.00	\$10,000.00	\$150,000.00

Tabulation of Bids Village of Hoffman Estates 2025 Street Revitalization Project #2 Section Number: 25-00118-00-PV

County	Cook										
17 March 2025, 10:00 A.M. Attendees: Patty Richter, Andy LoBosco, Derek Greiner (All VOHE)				2025 STREET REVITALIZATION PROJECT #2 - ENGINEERS ESTIMATE		A Lamp Concrete Contractors, Inc. 1900 Wright Boulevard Schaumburg, IL 60193		Schroeder Asphalt Services, Inc P.O. Box 831 Huntley, IL 60142		Builders Paving, LLC 4401 Roosevelt Rd Hillside, Il 60162	
ITEM #	ITEMS	UNIT	QUANTITIES	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
HE564100	FIRE HYDRANT REMOVAL	EACH	6	\$1,000.00	\$6,000.00	\$550.00	\$3,300.00	\$695.50	\$4,173.00	\$650.00	\$3,900.00
HE564400	SANITARY MANHOLES, 4 FOOT DIAMETER, SPECIAL	EACH	7	\$9,000.00	\$63,000.00	\$11,500.00	\$80,500.00	\$20,400.00	\$142,800.00	\$19,000.00	\$133,000.00
HE565000	SANITARY MANHOLES, ADJUST, SPECIAL	EACH	17	\$1,300.00	\$22,100.00	\$1,250.00	\$21,250.00	\$1,660.00	\$28,220.00	\$1,550.00	\$26,350.00
HE565500	SANITARY MANHOLES, RECONSTRUCT, SPECIAL	EACH	10	\$2,600.00	\$26,000.00	\$3,225.00	\$32,250.00	\$2,625.00	\$26,250.00	\$2,450.00	\$24,500.00
59300100	CONTROLLED LOW-STRENGTH MATERIAL	CU YD	14	\$600.00	\$8,400.00	\$50.00	\$700.00	\$430.00	\$6,020.00	\$400.00	\$5,600.00
HE601004	PIPE UNDERDRAINS, FABRIC LINED TRENCH, 4", SPL	FOOT	140	\$45.00	\$6,300.00	\$55.00	\$7,700.00	\$54.00	\$7,560.00	\$50.00	\$7,000.00
HE601006	PIPE UNDERDRAINS, FABRIC LINED TRENCH, 6", SPL	FOOT	140	\$55.00	\$7,700.00	\$63.00	\$8,820.00	\$80.25	\$11,235.00	\$75.00	\$10,500.00
HE602104	CATCH BASINS, 4 FOOT DIAMETER	EACH	4	\$4,500.00	\$18,000.00	\$4,275.00	\$17,100.00	\$6,955.00	\$27,820.00	\$6,500.00	\$26,000.00
HE602200	INLETS, 2 FOOT DIAMETER	EACH	6	\$1,800.00	\$10,800.00	\$2,350.00	\$14,100.00	\$2,140.00	\$12,840.00	\$2,000.00	\$12,000.00
HE602400	MANHOLES, 4 FOOT DIAMETER	EACH	8	\$4,500.00	\$36,000.00	\$4,400.00	\$35,200.00	\$6,155.00	\$49,240.00	\$5,750.00	\$46,000.00
HE602500	MANHOLES, 5 FOOT DIAMETER	EACH	5	\$5,500.00	\$27,500.00	\$5,750.00	\$28,750.00	\$8,560.00	\$42,800.00	\$8,000.00	\$40,000.00
HE602XX1	JUNCTION CHAMBER NO.1	EACH	1	\$27,000.00	\$27,000.00	\$40,000.00	\$40,000.00	\$9,180.00	\$9,180.00	\$74,000.00	\$74,000.00
HE602XX2	JUNCTION CHAMBER NO.2	EACH	1	\$24,000.00	\$24,000.00	\$45,000.00	\$45,000.00	\$74,365.00	\$74,365.00	\$69,500.00	\$69,500.00
HE602548	GATE VALVE 8" WITH VAULT, 4' DIAMETER	EACH	15	\$7,000.00	\$105,000.00	\$10,525.00	\$157,875.00	\$5,565.00	\$83,475.00	\$5,200.00	\$78,000.00
HE602512	GATE VALVE 12" WITH VAULT, 5' DIAMETER	EACH	1	\$8,000.00	\$8,000.00	\$14,425.00	\$14,425.00	\$10,700.00	\$10,700.00	\$10,000.00	\$10,000.00
HE602513	GATE VALVE 12" WITH VAULT, 5' DIAMETER, SPECIAL	EACH	2	\$16,000.00	\$32,000.00	\$16,450.00	\$32,900.00	\$12,840.00	\$25,680.00	\$12,000.00	\$24,000.00
HE602556	GATE VALVE 6" WITH VAULT, 5' DIAMETER, SPECIAL	EACH	1	\$13,000.00	\$13,000.00	\$11,750.00	\$11,750.00	\$5,350.00	\$5,350.00	\$5,000.00	\$5,000.00
HE602558	GATE VALVE 8" WITH VAULT, 5' DIAMETER, SPECIAL	EACH	3	\$14,000.00	\$42,000.00	\$12,525.00	\$37,575.00	\$6,420.00	\$19,260.00	\$6,000.00	\$18,000.00
HE602900	ABANDON VALVE BOX	EACH	7	\$500.00	\$3,500.00	\$250.00	\$1,750.00	\$490.00	\$3,430.00	\$450.00	\$3,150.00
HE603000	MANHOLES TO BE ADJUSTED	EACH	43	\$450.00	\$19,350.00	\$685.00	\$29,455.00	\$860.00	\$36,980.00	\$800.00	\$34,400.00
HE603100	MANHOLES TO BE ADJUSTED, SPECIAL	EACH	1	\$600.00	\$600.00	\$900.00	\$900.00	\$1,285.00	\$1,285.00	\$1,200.00	\$1,200.00
HE603500	MANHOLES TO BE RECONSTRUCTED	EACH	1	\$1,900.00	\$1,900.00	\$2,800.00	\$2,800.00	\$2,140.00	\$2,140.00	\$2,000.00	\$2,000.00
60406000	FRAMES AND LIDS, TYPE 1, OPEN LID	EACH	6	\$450.00	\$2,700.00	\$525.00	\$3,150.00	\$535.00	\$3,210.00	\$500.00	\$3,000.00
HE604060	FRAMES AND LIDS, STORM, TYPE 1, CLOSED LID, SPECIAL	EACH	6	\$450.00	\$2,700.00	\$577.00	\$3,462.00	\$650.00	\$3,900.00	\$600.00	\$3,600.00
HE604061	FRAMES AND LIDS, SANITARY, TYPE 1, CLOSED LID, SPECIAL	EACH	28	\$450.00	\$12,600.00	\$600.00	\$16,800.00	\$535.00	\$14,980.00	\$500.00	\$14,000.00
HE604062	FRAMES AND LIDS, WATER, TYPE 1, CLOSED LID, SPECIAL	EACH	22	\$450.00	\$9,900.00	\$585.00	\$12,870.00	\$535.00	\$11,770.00	\$500.00	\$11,000.00
HE604063	FRAME AND LID, 3 FEET, SPECIAL	EACH	4	\$2,000.00	\$8,000.00	\$925.00	\$3,700.00	\$1,625.00	\$6,500.00	\$1,500.00	\$6,000.00
HE604300	FRAMES AND GRATES, FOR M3.12 CURB	EACH	8	\$650.00	\$5,200.00	\$775.00	\$6,200.00	\$645.00	\$5,160.00	\$600.00	\$4,800.00
HE604605	FRAMES AND GRATES, FOR B6.12 CURB	EACH	18	\$675.00	\$12,150.00	\$775.00	\$13,950.00	\$860.00	\$15,480.00	\$800.00	\$14,400.00
60500040	REMOVING MANHOLES	EACH	19	\$400.00	\$7,600.00	\$550.00	\$10,450.00	\$1,070.00	\$20,330.00	\$1,000.00	\$19,000.00
60500060	REMOVING INLETS	EACH	6	\$150.00	\$900.00	\$350.00	\$2,100.00	\$325.00	\$1,950.00	\$300.00	\$1,800.00
HE605500	ABANDONING MANHOLES, SPECIAL	EACH	1	\$1,000.00	\$1,000.00	\$650.00	\$650.00	\$3,210.00	\$3,210.00	\$3,000.00	\$3,000.00
HE606100	COMBINATION CONCRETE CURB AND GUTTER, M3.12, SPECIAL	FOOT	6,166	\$31.00	\$191,146.00	\$27.00	\$166,482.00	\$30.00	\$184,980.00	\$27.00	\$166,482.00
HE606200	COMBINATION CONCRETE CURB AND GUTTER, B6.12, SPECIAL	FOOT	3590	\$32.50	\$116,675.00	\$31.50	\$113,085.00	\$30.00	\$107,700.00	\$27.00	\$96,930.00
HE606300	COMBINATION CONCRETE CURB AND GUTTER REMOVAL & REPLACEMENT, SPECIAL	FOOT	4216	\$38.00	\$160,208.00	\$40.00	\$168,640.00	\$38.50	\$162,316.00	\$34.00	\$143,344.00
HE606900	CONCRETE FRONT FILL, SPECIAL	FOOT	3590	\$3.00	\$10,770.00	\$0.01	\$35.90	\$0.02	\$71.80	\$0.01	\$35.90
HE664000	FENCE REMOVAL AND REINSTALLATION	FOOT	27	\$150.00	\$4,050.00	\$181.50	\$4,900.50	\$160.00	\$4,320.00	\$340.00	\$9,180.00
HE701014	TRAFFIC CONTROL AND PROTECTION	LUMP SUM	1	\$250,000.00	\$250,000.00	\$808,000.00	\$808,000.00	\$150,000.00	\$150,000.00	\$947,697.48	\$947,697.48
70300100	SHORT TERM PAVEMENT MARKING	FOOT	300	\$2.00	\$600.00	\$1.00	\$300.00	\$0.01	\$3.00	\$6.00	\$1,800.00

Tabulation of Bids Village of Hoffman Estates 2025 Street Revitalization Project #2

Section Number: 25-00118-00-PV

County Cook														
17 March 2025, 10:00 A.M. Attendees: Patty Richter, Andy LoBosco, Derek Greiner (All VOHE)			2025 STREET REVITALIZATION PROJECT #2 - ENGINEERS ESTIMATE		A Lamp Concrete Contractors, Inc. 1900 Wright Boulevard Schaumburg, IL 60193		Schroeder Asphalt Services, Inc P.O. Box 831 Huntley, IL 60142		Builders Paving, LLC 4401 Roosevelt Rd Hillside, Il 60162					
ITEM #	ITEMS	UNIT	QUANTITIES	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL			
70300150	SHORT TERM PAVEMENT MARKING REMOVAL	SQ FT	100	\$3.00	\$300.00	\$1.00	\$100.00	\$0.01	\$1.00	\$0.01	\$1.00			
HE720010	REMOVE AND RESET SIGN	EACH	21	\$250.00	\$5,250.00	\$250.00	\$5,250.00	\$300.00	\$6,300.00	\$300.00	\$6,300.00			
78009000	MODIFIED URETHANE PAVEMENT PARKING - LETTERS AND SYMBOLS	SQ FT	113	\$8.00	\$904.00	\$8.00	\$904.00	\$13.10	\$1,480.30	\$12.00	\$1,356.00			
78009004	MODIFIED URETHANE PAVEMENT MARKING - LINE 4"	FOOT	1015	\$1.10	\$1,116.50	\$2.75	\$2,791.25	\$2.30	\$2,334.50	\$2.10	\$2,131.50			
78009006	MODIFIED URETHANE PAVEMENT MARKING - LINE 6"	FOOT	2142	\$1.50	\$3,213.00	\$4.25	\$9,103.50	\$3.30	\$7,068.60	\$3.00	\$6,426.00			
78009024	MODIFIED URETHANE PAVEMENT MARKING - LINE 24"	FOOT	324	\$7.00	\$2,268.00	\$7.50	\$2,430.00	\$13.20	\$4,276.80	\$12.00	\$3,888.00			
HE870010	REMOVE AND PROTECT LAMP POST	EACH	2	\$500.00	\$1,000.00	\$3,150.00	\$6,300.00	\$3,125.00	\$6,250.00	\$2,850.00	\$5,700.00			
TOTAL BID A	TOTAL BID AS READ						\$6,248,228.77		\$6,407,550.02		\$7,088,288.00			
TOTAL BID A	S CORRECTED			-			\$6,248,228.77		\$6,407,550.02		\$7,088,288.00			